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QUESTION 1

You notice that throttling is occurring on your NoSQL Database Cloud Service. What must you increase to solve this?
A. storage capacity

B. storage capacity

C. index size

D. OCPU for all servers in the cluster

Correct Answer: D

QUESTION 2

Which TWO statements are true about Interface for Exadata I/O Resource Management (IORM)? (Choose all correct
answers)

A. IORM allows workloads and databases to share 1/0O resources automatically according to admin-defined policies.
B. IORM can be enabled across multiple databases using the Cloud interface of Exadata Cloud Service.

C. IORM allows workloads and databases to share I/O resources automatically according to user requests.

D. IORM can be enabled across multiple Exadata Racks using the Cloud interface of Exadata Cloud Service.

Correct Answer:. AB

QUESTION 3

Which tool can be used to monitora storage server in Exadata Cloud Service?
A. OCI CLI

B. ocpucli

C. exacli

D. dbaascli

Correct Answer: C

QUESTION 4

Which are THREE strategies to migrate Oracle Database to Oracle Cloud Infrastructure (OCI)? (Choose all correct
answers)

A. GoldenGate
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B. Zero DowntimeMigration (ZDM)
C. Autonomous migration

D. Real Application Clusters (RAC)
E. migration workbench

Correct Answer: ABE

QUESTION 5

You used the "Stop" option from the Console of an Exadata Cloud Service virtual machine within a VM cluster. What
impact does this have?

A. TheExadata Cloud Service is stopped.

B. All the virtual machines in the VM cluster are stopped.

C. All the databases and infrastructure associated with the Exadata Cloud Service are stopped.
D. The Stopped virtual machine is not available to any other database deployment.

Correct Answer: D
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